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Answer Question Nos. 1 and 2 in a sentence each.

1. Giveone point of difference between disaster and hazard. 1
frenBa SRR CZEW S CYAd e Ay |

2. Whattype of non-conventicnal source of energy other than biogas is Mdely
used in Manipur nowadays ? 1

ARSI WG - AT G2 TR e ol (Ffr- R SI’MTW
P—zi] AT 7

Answer Question Nos. 3to 5 in about 30 words each.

3. What is meant by the organised sector and the decentralised sector of
cotton textile industry in India ? - - 2

TR FceTyT R RN TR STsfRE i3 Wage MR (e Qi S weacs!

Contd.

4. Whai would be the advantages and the disadvantages of pipelineg

traranoriation ? Give two points each. 2
ANZAGHTTA (oL 2T — o (TN JCrIeerafdie sIwoge pmesarie o1 -3 @20 9
CRITSIAT TR YRGBT Sl -Se 33P0 |

S.  Why coes Manipur prefer to have a.railway line upto Imphat in addition to

its airways and National Highways ? Give two reasons. 2

TiYeE Foq R PR GPIA INE PR 39S G5 S 2w (Rl @ TR
o 1A SR 2 W T Ay )

6. Draw-a full page outline map of' India, and mark and label therein the

following 14+1=2
F Y] SEREH (T Al FRG, Sl Tl T SR (o Sestan wfe A9 |
Mumbai High |
R T

Answer Question Nos. 7‘ to 10 in about 50 words each

7. Write 2 brief account of the different methods of irrigation practised in

india. - -3
TR SECARRT (OIRE - CORGAA He3-CRC waefieR st =an 7S |

8. Expiain the chief characteristics of the soils that constitute the river valieys
and deltas of India. 3

TRGP TLIE TR TR mﬁqmﬂﬁmmwmﬂe%wm-rwﬁﬁ
XTI GG
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9. Point out the distingushing features of metallic and non-metallic energy
minerals with examples. 3

m@%@iﬂﬁ%ﬁmﬁﬁem{s IoaN WG] TR e ed cuma weshhe oy 3
il T |

 10. Why does the Chotanagpur region have the maximum concentration of

iron and steel industries ? Explain by giving three reasons. 3
- CRIBIAIS TR GRS Wge Teero® Gy 712 WAl 1w o SR 7
HEIAT AN TP OIS |

Answer Question No.11 in about 120 words.

11. Compare the geographical conditions necessary for the cultivation of

sugarcane with those of tea. 5
B AR WA S8R MR RSt 51 @R T Reoufies smr{*r o1
Or

% - Explain why the food grains prodiiction has remained stagnant in the last
few years in India.

ol (R ST Y B s - S CIRTATE S ceTes (B ZaRe
SECT'ON B

(HISTORY)
Marks 27

Answer Question Nos. 12to 15 in about 50 words each.
12. Explain the incident which is known as the “Jallianwala Bagh Massacre”. 3

‘e e M’ gel W6l ARG =T B |
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14.

15

16.

i7.
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How was the cotton textile industry began in India ? 3
FAT ORE AR (et Frraeh THE Qe ¢

“By the middle of the nineteen century the Free-Trade Theories of Adam
Smith overshadowed the Mercantilist Theories”. Justify the statement. 3

“ABR GGl 5215191 TN SAA1 AT ST PRIl see Y- Tt
Chfete wiedrbiEea cfeeitHeg I3 iR 0 arew =T pRE TR Ok |

“The Second World War brought changes in the life of the peopie of
Manipur.” Jusiify the statement. 3
eyt {1 onegl T SR Sl #{fSrm Sicean w3 o AReEAY 17 qiws o
5uR T B | ’

On the ma;} of India drawn as answer to question No. 6 (of Geography

portica), locate thg places with names, where : 1+1=2

(a) Tha Cenaress session of 1920, which adopted the Non-Co-operatior

orcgramme was held.

ey e Al India Kishan Congress was extablished in 193€.

Y e 8§

(of Geography portion) *1i83W S&1 T TSI A+ S,

ot creiRE afﬁsrﬁ["i NNseM a1 B 3
(a) 3@ guis 1920 w1 s I Q:Frt:{ai‘?t QTP CETIRT TR Tt |
(o) 3%t yuPr 1936 w1 e Zfm P e eyl |

“

2aswer Question Nos. 17 to 19 in about 30 words each.

“Name the inventors of “Flying Shuttle” and “Power Loom”.

“pide e (o) S ‘o N (CUR SRR Q) et S

F FOn 2
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in which languages were the “Samachar Darpan” and the “Bombay '-----EGﬂGM“C

18.
Samachar” published ? 2 (POLITICAL SCIENCE)
e T AT ISR o i Ty SRR R 9 Marks—13
19. Why did Lord Lytion established the office of the “Press Counselior of Answer Question Nos. 2316 25 in a sentence each.
-, ]ndia” ? 2 : 23 Wh s . ” . -
| . y decisions in democracies are more acceptable to the pecple ang
- -~ - | . ‘ 28.
@ @EhE FEATEE T Feoen o A N i e[ 9 more effective ? 1
Answer Question Nos, 20 and 21 in a sentence gach. > | AN A ! TR Rl SR
| | @3RI 7 |
- isaState ? 1 |
20. Whatis ' 24. Give one peint of difference between pressure groups and political partics
8 o T B 2 _ -~ co 1_
21. Name the Sian, engineered by L ord Curzon, the Viceroy of india in 1905. Co St T w"w@ . s
1 25. Suggest one way by which conflicts in democracy can be easily and
successfully resolved? .- 1
TGP TIRCTER (TG Fwal BN AR 1905 O kiR (g IR FR™est ? : - 29
SYRSAT (AT FRINR FHA SR HRIOTPT SRR 21 S 2TAFE |
Answer Question No. 22 in about 100 words. - -
- Answer Question No: 26 in about 30 words. 30
22, Explain the July Revolution of 1830 in France. - 5 _ ' ' :
- . 0. The animosity between the Hindus and Muslims was largely the creaticn of
LgA gt 1830 M PErel (AreRar FERiN AEe o Naa oG | the British rulers. Analyse the statement. 2
- - | : 31.
Or e g e sel @fal gl 3w CorerfieHt e gerAf |
__ B A ST R |
Explain the revolution of 1848 in Hungary. W 1M 21 S/Sc. (N) 6 Contd. 85F

28 P 1848 B 2w CareRi SRR T T % |
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28.

AnswerQuestion No. 27 in about 50 words.

How does a challenge in democracy cary with an ceportunity for progress ?
3

SrE (SR T (CBTeE) W] (Al SIS YTEoTaT ST Tl RISt 7
Answer Question No. 28 in about 100 words.

identify five basic features of a government by which we can call it a

 federation. | 5

| SR SR CPRCASTR SRR W] 3 G261 CTaNT WEIS T T IS |

31.

SECTICN-D
{ECONCMICS)
Marks—13
Answer Question Nes. 2910 21 ina sehrence each.
Why has U.S.A lower H.D.!. than Australia ? 1

B8, o, ww wRglerann &v, f, w3, @iEa vl 27

. Which funciion of money makes it easier in the process of transaction ? 1

T <ol ST Coi— (RN K997 SRRt 7

- Which situation led to economic Iiberélisation in India ? 1

SIRST G- A Rrey S $RA SRgEee 2
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AnswerrQuestioh No: 32 in about 30 words.
32. Why dothe publicaccept papsribney 2 Give tworeasons. -
DS Y S S " .
' AnswerQuestion No. 33 in about 50 words.
33. Write three objectives of development in a country. - 3
ORI oAl BRSSP ST A g
| An.swe.r' Qqestiop No. 34 in about 100 words.

4. Expiéin the importance of agriculture in the Indian economy in spite of low
productivity per wotker. Give five points. 5

RCFE ColleCae] TFAT] TSR -t e CNS-FIesaaT T s e3RIM waw
IR R ) (IR e R ‘
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